% LAPPSET.

FLORA

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D’INSTALLATION

DATE: 20.5.2024

Q17903




& LAPPSET.

Q17903

1(

N
~—

FLORA
DATE: 20.5.2024
702286  |pcs 705203 |pcs 705211 PCS 705214  |pcs 705219  |pcs 705221 PCS
5 5 |1 7 2 2 1
urrg;hud | | | | |
65x65 L=724 45x145x724 L=2246 93x93x2446
705226  |pcs 705230 |pcs 705237 |pcs 705239 |pcs 705258
2 2
1=1527 93x93x3138 93x93x2850 =
705431 |pcs 705927  |pcs 706185 |pcs 706193
1 1 / 1
45x165x2280 = L=946 10x640x702
706371—707|pcs 706505 |pcs 706531 PCS 706533 |pcS 706534 |pcS
2 i 2 7 1 1
5 AP S e
A | | <A
" / ;‘ATSTENER NER
B = | B | ||
15x345x750 15x400x703 35x70x730
706541 |pcs| 706542 706766—707 PCS 707446 |pcs| 709762 |pcs
& 1 1 it 1
< ‘
7
ENER ’
704x970
710054 |pcs| 900240 |pcs 901868 PCS 901916 |pcs| 903093 |pcs
/ 2 1 50
s — — — — —
j 93x93x1000 @8x70 ?34x598 L 650 @8x90
3 905104 |pcs| 905838—216|pcs| 907695—216|pcs| 907698—216|pcs| 909256  |pcs 909511  |pcs
f 32 1 1 1 8 7
% . : : : : : :
Ql
) / o
—
5
i - - - - - -
S M10 L 1060 L 2054 216 /8.4




& LAPPSET.

Q17903

2(2)

Copyright Lappset Group Ltd

FLORA 3
DATE: 20.5.2024 a
909519 |pcs 909521 PCS 980114 PCS 980123 |pcs PO7524 |pcs PO7837 |pcs
8 4 8 i 2 i 1
= @4x20 @7x60 L=1346
P13093 |pcs PCS PCS PCS PCS PCS
2
45x145x724
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




Copyright Lappset Group Ltd

& LAPPSET.

Q17903

FLORA
DATE: 20.5.2024
:50
I 000
800 800 800
—Fo
o
(o)}
&
3
380 —
D ]
O © {0
o 5 630 i
® 2 S 3
T}
D O e %D ©
: B
<
o0—6
870 (; 87OC)%D

1140

1140




& LAPPSET.

FLORA

Q17903

DATE: 20.5.2024

4A

O

905104

Sand 0.2—2 mm/
Gravel 2—8 mm

1Q0

—o
1 l
NN N N
\% DNENN NN WY NNENNENNEE AN o
ANNIAY N NN
AANENN ANEENN AN @)
7&\ N DN AN
NN ©

Hox!
Slide sheet gop
Liukupelti rako.

M12x40
Ve4/13

Sand 0.2-2 mm/
Gravel 2—8 mm

Concrete
500x500x200

905104

. 903112

Copyright Lappset Group Ltd




& LAPPSET.

FLORA

Q17903

DATE: 20.5.2024

Copyright Lappset Group Ltd

E— EN/AS Impact Area 43.7 m2

- Falling Space 45.7 m2
Max Falling Height 2500 mm

3610

(

2000

1500

|

1000 ——f_ 1000
/
1570

2 1500 | 3
[ve] [
r) - 920 \ 3
] |
2160 2160
F__________xi________§
o
~
o
N
6270
6850




Q17903

DATE:

& LAPPSET.

FLORA

SA

20.5.2024

+3790

+2350

+1950

+0

+1470

+3790

+2500

0¥l

00LL

+870
+0

p3}7 dnoug 3jasddpT jybrhdon



DET 1

" A et

20.5.2024

N N

TE:

Q17903

DA

DET 3

& LAPPSET.

FLORA

p3y7] dnoug jesddpT jybrAdo




Copyright Lappset Group Ltd

s LAPPSET. Q17903

FLORA DATE: 20.5.2024 6 A

DET 1 DET 2 DET 3 DET 4

-




7

TOWER A

DATE: 2.2.2024

Q17903

& LAPPSET.

FLORA

\HHI|U'

/NN

—_— %

¥ .
NS~ NS7——" f——
—_— ) )

DET 2




& LAPPSET.

FLORA

Q17903

DATE:

2.2.2024

TOWER A

7a

A

+2250

1:50

+1850

+770

100

+1370

+770

Copyright Lappset Group Ltd




TOWER B

Q17903

DATE:

& LAPPSET.

FLORA

7b

2.2.2024

f . g/ L
/J\
\ T .
&y —

o

.
L%

| /

=\

| [ ]

A S ———

‘ ————————————————— )

T
i
—s

/706308

p3y7] dnoug 3jasddpT jybrhdon



& LAPPSET. Q17903 TOWER B

FLORA DATE: 2.2.2024 7 c

@ 1:50

L1 > 11

m
)




Copyright Lappset Group Ltd

& LAPPSET. Q17903

FLORA DATE:  20.5.2024 8

Max Falling Height

//:v_,-

£
5

/705308




Copyright Lappset Group Ltd

% LAPPSET.

FLORA

705258

DATE: 24.5.2022

1(1)

(1) 706443

7

32x45x702

Pes|(2) 705257 |pes

32x750x750

(3) 900240

LCS@ 980101 |pcs

@8x70 @4.5x70
£ ¢ | | | |
o
3
£3 3%
800
DET 1 DET 2 DET 3
4.5x/0
QN
/064453 M

N\

@3x/0

(i
N\

\

=4

NOTE:

Same plane.
HUOM:
Samassa
tasossa.




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705308

DATE:

16.5.2016

1(5)

670

1470

1370

(1) 705307 |pes|(2) 901879 |pcs|
/ 1 2]
(3) 707133 |pes|(a) 901868 |pcs|
] 2]

‘ 10x80x745 ?30x598
(5) 909210 |pes|(6) 905051 |pes
4 | 4

e
M8x40 924/8.4 | |
(@) 980128 |pcs] pos|
T H B
o7x40 | | B

2590




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705308

FLORA DATE: 16.5.2016 2(5)
DET 2
90187/9 O7x40
/ /@T@g)
Insert sheet metal IN to the
plastic cover.
“3\ ﬁl
2000 §
.3‘ =
4610




3% LAPPSET
FLORA

705308

16.5.2016 3(5)

DET 3

M8x40
(909210)

024 /8.4
(905051)

9018638

DET 4 901868

/07133

(905051)
MEx40

(909210)

Copyright 1998 Lappset Group Ltd




4(5)

16.5.2016

705308

DATE:

% LAPPSET
FLORA

P31 dnoug jesddo] @661 1yblikdod




8 LAPPSET 705308
FLORA DATE: 16.5.2016 5(5)

Copyright 1998 Lappset Group Ltd

.
i

NSRS QQQQQQQ

2 Q a MEROR U
/00x200x100
CONCRETE
. /700 _




Copyright Lappset Group Ltd

% LAPPSET.

705511

FLORA DATE:  27.1.2021 1(1)
</\_> (2) 900240 Pes|
Al 4]
@8x70 | |
o =
Pes PCS|
Pes Pes|
Pes PCs|
Pes Pes|
N
DET 1 DET 2 PCS PCS

AN

8x/0

/05511

200

PCS

PCS




Copyright Lappset Group Ltd

#® LAPPSET.

FLORA

705927

DATE:  9.4.2024 1(2)
(1) 705918 |pcs|(2) 980123 |pcs|
DET 1 E - F il
| emeo | |
(3 980128 |rcs|(3) 909256 |Pcs|
4 120]
o7x40 | | o1e/8.4 | |
Pes|(5) 900240 |pes
- 129]
| esx70 |
PCS PCS
1900
1385
/”’ 870
i 355
I P
> =
—<
N o N
. |
=l 8 o 2
Al [ = o =
o =
(o))
@ L gl L L _ﬂ §
o
©
]
2400




Copyright 1998 Lappset Group Ltd

% LAPPSET. 705917
FLORA DATE: 13.9.2019 2(2)
DET 1 @7X4O DET 2
980128
216/8.4

980125




Copyright Lappset Group Ltd

% LAPPSET.

706185

FLORA DATE:  25.8.2022 1(2)
- (1) 706182 |es|(2) 706183 |pcs|
| /’ // i
DET 5, 6 | H
(3 706186 Pes
1
O I N
DET 2 N L
149x700x1089

g (® 900240 [rcs|(6) 903093 |pcs]
6 8

v

DET 1, 7 @8x70 @8x90
(@) 980123 [rcs|(8) 980128 |pes
T B B
o7x60 | | @740 | |
PCS PCS
DET 1, 3, 4
£
\ +1050
+870 \ 5
(@]
=
0 T
820

‘ 635




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

706185

DATE:

25.8.2022

2(2)

DET 1

706186

e

@7x60 <)

(980123) "\

DET 2

@7x40
S (980128) | .

DET 3

DET 4

\

)
1
_ .
it |
~ o
]

706186

/06187

©¥8x90

DET 5

ﬁ{202 220 | 234

DET 6

@8x /0

(900240)
444444ﬁ\\\§¢?

706182

28x90
N[~ (903093)

706182

706183
706186
706183

EN 1176
157

Attention !
By EN norm 1176, gaps must

be narrower than 89mm !!!




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




% LAPPSET.

FOOT

DEEP FOUNDATION DATE:  15.5.2018 1(1)
@ (D 909511 |pes|(2) 909519 |Pes|
1
909511 /911155 H
MTOx25 o ) 90x90x650 | | 50x380x380 | |
(909639) (3) 909637 [res|(4) 909638 [pcs|
4 8
@20/10.5 )
(909638) ~ \m# =
£ ! - -
N \\;%%} M10 220/10.5
S E () 909639 |rcs|(5) 905104 [pcs|
S 4] 4]
Miox25 | | M0 | |
/
OPTION FOOT
9095719 MT0O
(D 911155 |ees pes
(909637) & ]
90x90x650

Copyright Lappset Group Ltd




SLIDE WOOD

% LAPPSET

1(1)

22.5.2015

DATE:

DEEP FOUNDATION

m
7 s »
o S
-
py s
o < %
M~
o
% o AN%
| Q

P31 dnoi9 jesddo geelL 1ybrihdo)




% LAPPSET.

SLIDE WOOD

DEEP FOUNDATION DATE:  3.11.2017 1(5)
Il DET 1, 2
§ DET 3

Copyright Lappset Group Ltd

DET 4
DET 10
DET 6, 7
DET 8
SLIDE OPTIONS
706450 706450—-602  DARK BROWN
+1470 706450-603  LIGHT BROWN
706450—-604  LIGHT GRAY
706452 706452—-602 DARK BROWN
+870 706452—603  LIGHT BROWN
706452—604  LIGHT GRAY
WALL OPTIONS
706371-701 BLUE 706371—-707
706371 706371—-702  YELLOW 706371—-708
706571-705  LIME
706371—-704  DRARK GRAY
706571-705  LIGHT GRAY
706371-706  RED




% LAPPSET

SLIDE WOOD

80M DATE:  3.11.2017 2(5)
(O sube |pesi() SLIDE  [pes|() 706371 [pes|(C) 706505 [pes|() 901868 [pes|(1) 903093 |pcs|
H 1) 2l 1 [z 1) H
+1470 | | +870 | | 15x345x750 | | 35x70x730 | | @34x598 | | w@exe0 | |
(2 909876 [pcs|(3) 980100 [pos|(4) 980128 [pes|(5) 999561 [bcs|
2 F K-
M8x40 | | @5x60 | | @7x40 | | ]
0
0 ‘\
901868 %\ s
I \\\
\
/
706371
o]
5
5 \
5
(@]
E
fol
Q‘ [
3 0
o0
% s 706505
i
O
g|
o
(@)




% LAPPSET.

SLIDE WOOD

80OM DATE:  3.11.2017 3(5)
DET; 99 % DET 2
: 2 <f%%//%ﬁ CSIPORAUS
o o > ~— | PRE DRILL
e
75%60
(980700) T 78x90
4 (903093)
706505
— T~ 708371
O ) )
o i : \\ | :
T IS |
2.5 l&
DET 3 DET 4
901868 999561
M8x40 :: h
X
(905875 706371
Soo
@7 x40
(980128)

Copyright 1998 Lappset Group Ltd

DET 5

(980128)




% LAPPSET SLIDE WOOD

DEEP FOUNDATION DATE:  3.11.2017 4(5)
O 707133 [ps|(O) 901868 [pes() 901879 [pes[(6) 909210 [res|(7) 905051 [pes|() 980128 [pes
1] 2] 2] | 4] 4] 6]
/ (o>
10x80x745 | | @30x598 | | | wMexa0 | | o24/84 | | o740 | |

Copyright 1998 Lappset Group Ltd

901868

707133




% LAPPSET

SLIDE WOOD

DEEP FOUNDATION DATE:  3.11.2017 5(5)
DET 6
901879 07 x40
/ (980128)
3\
Insert sheet metal IN to the
plastic cover.
DET 7 DET 8 901868
M8x40
(909210)
024 /8.4
(905051) °
/07133
@\
érk\\\\\\\\\\ 024/8.4
901868

(905057)
M8x40

(909210)

Copyright 1998 Lappset Group Ltd




% LAPPSET.

HPL

WALLS 4 points

Copyright Lappset Group Ltd

DATE: 29.3.2016 1(2)
T (1) 903176 |pes|(2) 909850 |pcs|
PN 4
o N\ <Y
DET 1,2 ||fS] W
| wexes | ]
(3) 909256 |pes|(4) 909633 |pcs|
oy
016 /8.4x1.6 | | -
(5) 980123 |pes| pes
4 -
o7x60 | | N
PCS PCS
uf - .
Uﬁ =
J
D’ — —o
0o
0a 0o
O
0a 00
8 0o DB _ u’l\)
~ o (@[] —
3 =
[T
800




8 LAPPSET@ WALLS 4 points

Copyright 1998 Lappset Group Ltd

HPL DATE:  29.3.2016 2(2)
g v DET 2.3 N DET 2,3
5 al f Al
g ' Sl ° off
~ ) q ®
®
®
®
1 il 1 1
DET 1 YEN DET 2 |
(909850) 903176
216 /8.4 g‘ O 7x60
(909256) 1(980123)
10mm plate M8
(909633)
DET 3
MEx25
<90985O>9[l3ﬁ76
216 /8.4
(909256)
15mm plate \ M8
(909633)




% LAPPSET.

FIRE POSTS

Copyright Lappset Group Ltd

FINNO DATE:  8.6.2021 1(2)
(1) 900240 |Pcs|(2) 900342 |pes]
(i 4] 12
o DET 1 <
Il o8x70 | | Mexi6 | |
(3 901900 |pes|(4) 901939 |Pcs|
| "‘\»)ﬁ | |
I )
k<l B
§> 907695 20.5x36.2x56| | M12x70 | |
/ —T (5) 909850 |rcs|(6) 980150 |pes
L— . |
1 1
DET 2~ = [
) W \
or M8x25 | | M8 | |
(7) 901182 |pes|(8) 901902 |Pcs|
1 2
B B
— a
L Or L L
L 211 /M8x40 30.7x60.9x100
U 907829 i i
~ 0 0T
DET 3
PCS PCS
Nl _s03 B B
e -
3 i i
+1870
| (O 907829 |res|(C) 907698 |Pcs|
1 1
033,7x1454 | | ©933,7x2054 | |
(O 907817 [res|(0) 907695 |Pes
1 1
+0 ] ]
n i I %
340

@33,7x2554




Copyright 1998 Lappset Group Ltd

% LAPPSET.

FIRE POSTS

FINNO DATE:  8.6.2021 2(2)
DET 1 DET 2 901900
. MBx25 8
Pre drilling
@5 I 40 (909633)
N MEx16
NP /(900342
) .”\ @W )
%
90190727
907695 | «
211 /M8x 40
_ 98x/0 (901182)
(900240) e
(900342)
DET 3 DET 4
901600
901596
l é 901590
MT2x/0
T S (901939)
I ———p—




Copyright Lappset Group Ltd

8 LAPPSET. POLE
DEEP FOUNDATION  pam: 1552014 1(1)
(1) 905086 [pes|(2) 909214 [pcs]
244/13.5 M12x50 | |

D44 /13.5

(905086 )

M12%x50
(909214)




Copyright Lappset Group Ltd

% LAPPSET. POLE
DEEP FOUNDATION DAt 6.8.2014 1(1)
il




% LAPPSET.

GAME WALL

M80 DATE:  4.11.2019 1(2)
(1) 903176 |pes|(2) 909850  [pes]
"]\ 4] 4]
DET 1,2
| wmexes ||
(3) 909256 |cs|(4) 909633 [Pcs|
8 4]
&y
016/8.4x1.6 | | -
(5) 980123 |pcs Pes|
4] |
*Note: o7x60 | | B
No gaps between:
3—25mm
89—230mm
COLOR OPTIONS
—701  BLUE
—702  YELLOW
—-703  LIME
—704  DARK GRAY
- —705  LIGHT GRAY
—-706  RED
~707  GREEN
1 —708  FUXIA
10 @] 2
9l - Ols
o ||IB 3

*Note

*Note

Copyright Lappset Group Ltd

800

800




% LAPPSET.
M80

GAME WALL

DATE:

4.11.2019

2(2)

GAME WALL OPTIONS

706766

706772

706308

707453

640x702

640x702

640x702

640x702

707209

705705

707433

707386

Copyright 1998 Lappset Group Ltd

\E

(909633)

640x702 640x702 640x702 640x702
709403 709358 709405
640x702 640x702 420x702
DET 1 YN DET 2
(909850)9[X5?76
@ |
316 /8.4 < 3 7%60
(909256) 1 (980123)
:
@ g




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




Copyright Lappset Group Ltd

% LAPPSET.

705203

FLORA DATE:  22.4.2024 1(2)
(1) 705190 |pes|(2) 705199 |pcs|
) § i
L=2400 | | I
(3 705272 |res|(a) 705528 |pcs|
— % —
(5) 705529 |pes|(6) 980104 |Pcs|
1] i
S

| esxe0 |
(7) 905087 |pcs|(8) 909137 |Pcs|
4 4
q ] ]

DET 3 %
| wizxeo |
(9) 909248 [rcs|(i0) 980128 [pcs|
d 16

S,

=
M2 | | e7xa0 | |
(1) 980154 |pcs [PCs|
4] -
@24/13 | | ]
PCS PCS
PCS PCS

‘ 800 ‘




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705203

FLORA DATE:  22.4.2024 2(2)
DET 1 DET 2 DET 3
= @7x40
/05528 705190

/05529

/05239

909157/

=
A

980154

NOTE
Center boom
grooves accurately
to the roof truss.
Leave no gaps!
HUOM

Asena puomi
keskelle kattotuolial
Ald jatd rakojal

NOTE:

Head of the element
to the end of groove.
HUOM:

Flementin pdd

uran pdadhdn.

/705199

NOTE:
Install

booms

in to the cut
of the roof truss

Leave
HUOM:

no gaps!

Asenna puomit

kattotuolin loveen.
Ald jgtd rakoja!

N~
980104




Copyright Lappset Group Ltd

% LAPPSET.

909521

FINNO DATE:  15.6.2003 1(1)
(1) 909511 [pes|(2) 909519 [pcs|
1
(3) 909637 |pes|(4) 909638 [Pcs|
4 8 |
1@)
= &
Mo | | 201105 | |
(5) 909639 |pes| PS|
4 -
DET 1 i - -
M10x25
) P
) P
s s
DET 1 — -
909511 ] -
10x25

@20

909519

PCS

PCS




Copyright Lappset Group Ltd

% LAPPSET. FOOT
DEEP FOUNDATION DATE:  30.5.2024 1(1)
Sand 0.2—2 mm/
8 oravel 22— mm <@
T 8
()




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

705230

DATE: 6.6.2014

720

800

(1) 705210 [pes|(2) 903093 [pes|
jm 1] o]
| esxe0 | ]
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS
DET 1
©8x90
R




	Q17903_INSTALL.pdf
	Q17903_1
	Q17903_2
	Q17903_3
	Q17903_4
	Q17903_5
	Q17903_6
	Q17903_7
	Q17903_8
	Q17903_9
	Q17903_10
	Q17903_11
	Q17903_12
	Q17903_13
	Q17903_14

	705203.pdf
	705203 1
	705203 2




